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QUESTION 1

How is Mist BLE location calculated? 

A. relationships with specific tag vendors 

B. tightly coupled software between the SDK client and the arrays 

C. probability surface with machine learning 

D. triangulation 

Correct Answer: C 

Reference: https://www.mist.com/documentation/location-how-it-works/ 

 

QUESTION 2

Some users are having throughput problems on some devices. You need to understand if users may be on older
devices in this situation. Which SLE metric and classifier allows you find this information? 

A. capacity/client count 

B. throughput/network issues 

C. capacity/client usage 

D. throughput/device capability 

Correct Answer: D 

Reference: https://www.mist.com/documentation/service-level-expectations-sle/ 

 

QUESTION 3

Your team is asked to build a wireless network for an apartment building. The customer wants to have a single WLAN
advertised, but still provide isolation between groups of users. In this scenario, which statement correctly describes the
solution? 

A. A single key is generated to access multiple SSIDs with personal WLAN enabled 

B. Additional VLANs are required to segment the users. 

C. Multiple unique keys are generated to access a single SSID with personal WLAN enabled. 

D. Private VLANs are required to segment the users. 

Correct Answer: C 

Reference: https://www.mist.com/documentation/personal-wlans/ 
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QUESTION 4

What is the purpose of an SSID? 

A. to identify a unique WLAN 

B. to identify a unique VLAN 

C. to identify a unique APPROACH 

D. to identify a unique organization 

Correct Answer: A 

Reference: https://www.lifewire.com/definition-of-service-set-identifier-816547 

 

QUESTION 5

Referring to the exhibit, what are two reasons why a Mist AP would have multiple IP addresses? (Choose two.) 
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A. One IP address is used for control traffic and one address is used for management traffic. 

B. The Local Status Page is enabled in the site settings. 

C. One IP address is used for redundancy. 

D. A guest portal is configured on a tagged VLAN. 

Correct Answer: BD 

Reference: https://www.mist.com/documentation/aps-use-ip-addresses/ 

 

QUESTION 6

Which statement is correct regarding the Mist UI? 

A. The Mist UI is used to manage network devices. 

B. The Mist Ul is used to distribute routes between your wireless and physical networks. 

C. The Mist Ul is used by clients to connect to wireless networks. 

D. The Mist Ul is used by cloud providers to provision VMs. 

Correct Answer: A 

 

QUESTION 7

You are the only tenant in a building that has Wi-Fi. At times, the Wi-Fi network appears to be slow and you want to
determine if the microwave oven is causing an issue because it is used throughput the day. 

Which SLE metric and classifier should you look at to determine the issue? 

A. throughput/network issues 

B. capacity/wifi interference 

C. throughput/coverage 

D. capacity/non-wifi interference 

Correct Answer: D 

Reference: https://www.mist.com/documentation/radio-management-event-types/ 

 

QUESTION 8
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Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The AP is able to reach the Mist cloud. 

B. The AP is not able to reach the Mist cloud. 

C. The AP\\'s radios are not broadcasting SSIDs. 

D. The AP\\'s radios are broadcasting SSIDs. 

Correct Answer: B 

 

QUESTION 9

Which statement is correct about Mist\\'s location-based services? 

A. Location services are used to track client movements that are connected to the Mist WLANs. 

B. Location services are used to identify the location of cloud-based services. 

C. Location services are used by clients to identify which SSIDs are available on the site. 

D. Location services are used to identify the geographical location of corporate buildings. 
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Correct Answer: A 

Reference: https://www.mist.com/resources/mist-platform-solution-brief/ 

 

QUESTION 10

What are two advantages of lower modulation methods? (Choose two.) 

A. Lower modulation provides higher total aggregate throughput. 

B. Lower modulation provides higher data rates. 

C. Lower modulation is more robust against signal corruption. 

D. Lower modulation can achieve greater range. 

Correct Answer: CD 

 

QUESTION 11

The wireless service level expectation (SLE) for successful connects uses which three classifiers? (Choose three.) 

A. DHCP 

B. association 

C. asymmetry uplink 

D. IP services latency 

E. authorization 

Correct Answer: ABE 

Reference: https://www.mist.com/documentation/service-level-expectations-sle/ 

 

QUESTION 12

What will the BLE array be doing in the configuration shown in the exhibit? 
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A. listening and transmitting 

B. transmitting only 

C. listening only 

D. setting vBLEs 

Correct Answer: C 

Reference: https://www.mist.com/documentation/where-is-ble-controlled/ 

 

QUESTION 13

How many MHz are used for each OFDM channel in the 2.4 GHz band? 

A. 20 

B. 11 

C. 14 

D. 3 

Correct Answer: A 

Reference: https://www.oreilly.com/library/view/ccna-wireless-640- 722/9780133445725/ ch02lev3sec5.html 

 

QUESTION 14

The Mist cloud dashboard indicates that an AP does not have an IP address. In this scenario, which statement is
correct? 

A. The Mist AP used its built-in LTE radio to inform the Mist cloud that it did not have an IP address. 
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B. The Mist cloud pro-actively checks-in with each AP to gather this type of information. 

C. The Mist AP used BLE advisement to inform a neighboring Mist AP that it did not have an IP address, the
neighboring AP then informed the Mist cloud. 

D. The AP used the MIST RESTful API to inform the Mist cloud it did not have an IP address. 

Correct Answer: B 

 

QUESTION 15

Which statement about BLE advertisement and Wi-Fi interference is correct? 

A. BLE advertisements interfere with Wi-Fi channel 1. 

B. BLE advertisements interfere with Wi-Fi channel 36. 

C. BLE advertisements interfere with Wi-Fi channel 6. 

D. BLE advertisement does not interfere with Wi-Fi. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/vble-impact-2-4-ghz-wifi/ 
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